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PAPER I

Given below are two statements about online education.

Statement (I)Students become more active and reflective learners.

Statement (IT)Students and teachers engage in learning through the use of technology and become more familiar with technology by using it.
In the light of the above statements, choose the most appropriate answer from the options given below.

BB @ TetT(® T MG 6T G emevoT el e sevall GMISS Q&MTHI& 6L (DeTerer .

FnMHMI I: IDTE0TOI T &6 3H& Q1 F WG M6 &&HaIFserTayD, LTS LS &MHLITSHETTEHWD & MTFTEHET.

Tl IL:L0Mesoral & @6, A FlWFsEhd QSMSlevEL LiGensg Ll L6 LM &S16us 60T eneud s&mmedlet FHLUGG MTFET.
e L1 LWeTL(H & Seug60r epeuld &mmedley QFMN6LEIL LIS HeTS Q5 fHE Q&MeTHMTIHET.

GLoMH & 60T L el MG Wk erfler 9 LiLiemLuiey, BCY Q&TH&SHLILL B 6TeT Qe gsafedBh Sl LW&a Db QLITIHSSL0meT
LUHemevs CHIHOSHI1&E6]MD.

A Both Statement (I) and (II) are correct
Fanmm 1 LDHMID 1T @ Fevor(HLD &l WimesTemel.
B: Both Statement (I) and (II) are incorrect
Faml 1 LoHMILD 11 G Fevor(HLD &eUMITEITem6L.
C: Statement (I) is correct and Statement (II) is incorrect
Famm 1 FflWmerg WMHMID eIm&SBIWLD I &6 Tersl.
D: Statement (I) is incorrect and Statement (IT) is correct
FaMml 1 HEUMTETS DMHMILD eUMTEHGWLD II FflumeTsl.

2 The following problem is identified as research.
"Copying of the solution of the problems of mathematics given as home assignment from keys by some students of IX class".

L 6tTeu(BLD &(HG & TeoTSI 216 eTedtm HMILILGILD.
"IX-1D U@ LI Lulevild Flev LomesorauF&6T, ef_(HL LUMLLOMSS STLLLL &euoflgLl LF 75 EhaHS5Ter 6lenL &6 ¢ H&erGel
STLUULL eNlemL&Hemers anasWwmet(h U0 Q&g

A: Pure
2_600T60LO LI TEDT
B: Fundamental
919 LILIemL
C: Action
Q&FWev
D: Scientific
g nfleflwiev

3 Select the basic steps involved in planning teaching and learning in the correct order.

(a) Establishment of goals or objectives

(b) defining the present situation

(c) Identifying the barriers in the attainment of goals

(d) Developing a plan for the attainment of goals.

Choose the correct steps.

&MHLISS560 IDHMID SHMmemevs HLL AL 6960 2 _6Ter g LiLenL L &emeT Fiflwmer auflenguiey CHIHAS MWD,
(a) @OVEGGHET 3|6V6V&I CHITE 5 MIGHEMET BlF6vor Ul g5 60.

(b) SHCUMENH W Bl6m6VemL 616D T MIG S 6V.

(¢) QGG HMET ML EUTEV 2_6TeIT 56055606 &600TL M FH60.
(d) @)6VE:& 6016 6D UG METET B &HeMS 2_(H6UTE S H6V.
Frlwimeor LI &emens G556 QaUlIss.

A: (a), (b)and (c) only

a, b, LDMMILD ¢ DL (HLD
B: (a), (c)and (d) only

a, ¢, DHMILD d LD
C: (a), (b), (c) and (d) only

a, b, c LDMMILD d DL (HLD
D: (b), (c)and (d) only

b, ¢, LDMMID d L GID

assesses the background skills and abilities which are prerequisite for success in a particular subject.

e eULL UTLSH 60 Qeumnld s meor (LT [B]LITHSemeoTWIms: LI eTeoreonl] S mMedrss 6T Lommilh &u,mmey
aleueuem e W H LIS MSI.



A: Formative evaluation
aterrml LS LILTEH

B: Summative evaluation
@5M&S5M LHILIH

C: Diagnostic evaluation
Gmpud wHLITE

D : Prognostic evaluation

wetteord) L& LILTH)

The educational system which accomodates all the children regardless of their physical, intellectual, social, emotional, linguistic etc, is termed as
2 L6y, sifflel, Fepss, 2 eorj&S mmih Qomyd CeumiLImq 6T Sem6TSH S & LI5S 5 @FLD LILIGTEn L U|LOMMI © 6T6rT
Sl (M 6TeT MPSHSLILIGRMSI.

A: Formal education
(Wemmuimeor gevail
B: Informal education
(PEMETTT Seval
C: Integrated education
62 (HhITR emeuoTH &% Hevel
D: Inclusive education
2 GTeTLER W SHevall
Panel discussion technique was introduced by

GW Marg B LSS ABWSLILGSS W] .

A': Harry. A. Overstreet
ammifl A. ey vl ifi_

B: Skinner
G etTenT I
C: Guilford
RevBuTI(h

D: Thorndike
SITIJ600T60)L_&>
Given below are two Statements related to methods of reliability :

Statements I : The internal consistency reliability indicates the homogeneity of the test.
Statement II : The reliability coefficient obtained by test-retest reliability is known as temporal stability coefficient. Choose the correct option :

BLDLIG S & 6Tem o UI6BT (LD M&ET Q& LT LIT6T @) T6uor(h 2iMl&en & a6 ECLD Q&M(H & o&LILL (B 6TeTeoT.

N G605 I: 2 6T Blemev HLOLIG S S 60TemLD 6T60T LIS CF TS 6060TUN 60T B ILIML 60L& GM&ERMEI.

M &G IT: CFITH6MEDT - LD MIGEF MG 60 60T [5LDLISH S HETemLD eLN6VD QUIMLUILIL L BLDLIS ST &600TdH LD HMHEHTe0 &
Bl60)60 5 & E0TE0ILD (& 600TGHLD 6T60T 2JemLpG G LGSR MG,

Fiflwmer eNBLILSCH Tl CHI6] QF LS.

A: Statement I is correct but Statement II is incorrect
MG s [ FHIWLITETS S,60TMEV )& 6M& 11 S6U M TETSI.
B: Statement I is incorrect but Statement II is correct
N G605 [ HEUMTETS! S60TMT6L Nl &6mas 11 &FiflWimeoTs.
C: Both Statement I and Statement II are correct
MG s [ DHoID SiM&enas 11 @ Tesor@\D &FluwmeTeney.
D: Both Statement I and Statement II are incorrect
NG s [ InMHMILD SMl&ena I @ TeuoT(HILD &6) M TETenel.
Which of the following is not a type of Reliability ?
L9 656 (H 6 60T6U M MI6IT 6TG BLOLIG S 60TemLO U 60T 62 ([H 6UEDI & D6V6V?

A: Test-retest Reliability

CTFMHEME0T - LDMICHFTHEM6UT [HLD LIS S S 60T60IL0
B: Parallel-forms Reliability

(9) 60)600T LI T6OT 6)1Y.6UMBI&H6IT [HLD LIS & & 60T60)L0
C: [Interval consistency Reliability

2 _6TBlem6VE S 60TemLD [BLD LIS & 5607600
D: Expextancy Reliability
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11

THTLMTLIL BLDLIS S S 60T6mLD
External and Internal criticisms are parts of :
QauerflBlemev LnMHMILD 2 6T Blemev el [T& 6oT IS 6T LU 6T LIGH SH6TTSLD.

A Experimental Research
CFMGHeM60T FITT YUl16)
B: Survey Research
yefmerflefleurLs LIL1Q U6 Syliiey
C: Psychological Research
2 aTeiliey Fmy Qb Uley
D: Historical Research
QUTEVTMI FMTT 2pUl6)

Given below are two statements

Statement I Anexplanatory correlational design explains the degree of association among two or more. variables

Statement II In prediction correlational design, the investigator identifies variables that will positively predict an out come

Choose the correct answer.

GEGLD @ T60oT(H FonMHMIG6T STLILIL (H6T6TeoT.

Famml I: @resor(h 2JeVevSl SHMES CLMLULL TM&HEEHER LG QSTLTLI6T S6Temeu ell6md: g Ln6r] 8@ eUlqelenLoliL]
NeT&GHRMS!.

FaMmI 11 @(H &60011L1L] QST eulgauemLOLILNev, SpUleumery, GBFLO60) M UIT6T (LN 6M6S &600l18 @& mrl&ener
S| WITETLD &Tesor B M.

Fiflwmer aN@LILSCHTalemear CHI6] QF UWIWIaLD.

A: Statement I and Statement II are correct
Fa Mol T LDHMILD Fammi 1T G FeoorHILD FflWimesTenel.

B: Statement I is correct

Famm 1 Fflwmerg.

C: Statement II is correct

Famml 11 Fflwmerg.

D : Statement I and Statement II are incorrect
GOl 1 LOMHMILD MM 1T G TeooT(HILD &6UMTETem6).

The steps of Historical Research are given below :

1. Selection of the problem

2. Collection of data

3. Formulation of hypothesis

4. Interpretation of data

5. Criticism of data

6. Writing of the research report

Select the correct Sequence :

QUTELMTHM @b, mUIFSUINET LI 86T SCL Q&ETH & & LILIL (H6T6TeoT.
1) WygReneruilet G5y

(2) B GEsIfLIL

(3) HHSICSHTET 2_(HEUTHSLD

4) 76y alleTesLn

(5) B76Y eflngFerid

(6) 2p 16| S|P &HEEEDW ETLHSIH
Fflwumer auflenFanls CHIHOSH &S LD.

A: 1,3,2,5,4,6
1,3,2,5,4,6
B: 1,2,3,4,5,6
1,2,3,4,5,6
C: 3,1,2,4,5,6
3,1,2,4,5,6
D: 3,2,1,4,5,6
3,2,1,4,5,6
A clear difference between verbal and non-verbal communication within the element of sender and receiver is :

SILILBT MHMID QUMIBYT FaMI&HEE85 6T eumQms Inmmib Mm@l 8/606uME QST E @) 6mL GUILLITesT
Qgerfleumest Geumiim@.

A: Feedback
&OHSS!
B: Channel

emeuws T (LFIDMHME & Mev)
C: Control
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M CNINLIC)
D: Setting
emLoliL]

The elements of speech that are not standard words but a part of speech is :
BLIFR T Fo MIGETTE QUHLD HTLAVEVITH Q& TMH&ET 6T60TLIS

A: Gestures
DIF N H 6T

B: para language

Fmiy Qg
C: Posture

@S ITyem600T
D: Mouth

eumul

Communication is influenced by the existing nature of civilization and in turn the future civilization shapes up according to the strength of
QBTLILIWe6L eTedTLIGI Blevelld B leag S 6T SeTennllme) LUMTH&ESELILGREMS, CLoaid eTH I Me HTssFl &0 0T
AWl QUTMISS 6Ulgalenn&sELILUGHR S

A Communication process
QBTLILIW6 Q&FWe6ILpenm

B: Communication product
QamLFLIwe swmiliiy

C: Communication content
QSTLFLIWE 2 _6TerL_&aLh

D: Communication feedback

QarTLiLIwev Letenml L b

The recognition and valuing of difference, encompassing such factors as age, gender, race, ethnicity, ability, religion, education marital status, sexual orientation

and income is
QWG LITedeuTLD, G)6oTLD, @)60Tdh & (WD, HMET, LoD, Sevall, B ([HLo6vor Blemev, LITedWI6) FTFL MHMID aUIBLOMETLD GLIM6STMm
ST & 6m6T 2_aTamL&H W CaumiLmlenl HmIG&HH560 MM G LILNH G560 eTeTLIS).
A: Globalization
2 UELOWILDTEH 6V
B: Diversity
LI60T (LD & & & 60T60LO
C: Glocalization
2 6THITL(H 2 608 LOUILNITE 856V
D : Multiculturalists
LI6UGI6M M &HEVITEE TTEUTHSH6T.
Which one among the following is not the Represental media ?

ELpserLeummley 6THS eeTml LITHBIHSSHeulILGSSLILL L 26TL_G&HLD G)6V6M6V.

A: He/She
|6 60T/ 66T
B: Photographs

L|6m & LILIL BI85 6T
C: Painting
66 WM& 6T
D: Books
L1555 I &5 6T

Find the missing number in the last triangle.
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seo L (p&Camemra v 69 (HlULL 6TeuoTen stuTE: 86501 LAJ W6 LD.

2 3 3 4 5 é
5 7 8

A: 37
37
B: 41
41
C: 49
49
D: 53
53

A dealer marked the price of an item 40% above the cost price. He allowed two successive discounts of 20% and 25% to a particular customer. As a result he
incurred a loss of * 448. At what price did he sell the item to the said customer ?

@ elwmumfl @@ QuUTmET 6T efllemevenl &6 2 HLSEH Semevem il 40% SFHHLOMEH GMISSHTT. 0 SMILILILL
QUITLY.& 60 & WIMEM(H & & 20% LOMHMILD 25% 6T60T @) T60oT(H) Q1S ITL TG WITEOT HeTEBLIY SH6meT 36T IR SST. §) & 60T M6V
S|QU[HEG €H.448 BHEQL LD gHLIL LS. HHGSMILILNL aUTI860 8 W Memha @& Sfeuelwmumy] eTedreor 6ilemevss & S{L1GLIMIHED 6T
aflmLemeT Q& WG @HLILITT?

A: 2352
£15.2352
B: 2350
£15.2350
C: 2416
£5.2416
D: 2152
€5.2152

The numerator of a fraction is decreased by 25% and the denominator is increased by

250%. If the resultant fraction is g, what is the original fraction 2

(| Nl&lg ereveTemnflerT LG &lwmenrg 25% Gemmaslubid ell@GHlwmers)
250% oFlaflsasliul(hsrer  Ner ey  eN&lHD S eTesfley g etT
2 _6ouTem LoOWIT6sT 631 &) H1D?

A D7
5
22
5

B: oy
5
2_4
5

C: 27
6
E
6

D: 28
5
28
5

1£ 22% of a number subtracted from 45% of it self is equal to 92, then what is the number ?
62(IH 6T6UOTE00T1 60T 45% 6N BB 22% &3 HL GG TV 92 6T60T F60)L_85 (&GN LD 60T 16V 2[5 G 6T600T 6TEOT60T?
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23

24

A: 230
230
B: 350
350
C: 400
400
D: 420
420

If 50% of x-y equals 30% of x+y, then what percentage of x is y ?
(x-y)-@) 68T 50% 2L60TS (x+y)—-E) 60T 30%-8& FLOLDITEIS! 61601160 x-@) 60T 675 H 601607 FHN GRS LD y-24,5 @) ([H5&WD?

A: 50%
50%
B: 75%
75%
C: 60%
60%
D: 25%
25%

A group consists of 25 teachers. 20 engineers 18 doctors and 12 salesman visited a trade fare and spent Rs. 1330 altogether. It was found that 5 teachers spent as
much as 4 engineers, 12 engineers spent as much as 9 doctors and 6 doctors spent as much as 8 salesman. If every person in a professional group spent the same
amount. Find the amount spent by each engineer.

25 oA lwTsemaTuLd, 20 QUITMWIWLITETI&HEMETULD 18 L0(H S SI6UT&H 6T D MmILD 12 651160 60T UIT6IT[ 860 6T LD 685 T6uoT L
Q@b GWaITETS ([ QUIMTBLETLF&H G QF6TmI, S6M6sTal(BHLOMS €h.1330 QFuellhH tTmeoT. LIGLITS 5 R flWIT&6T 4
QUITMIWITETI & @B 5 E @) 6M60oTWIM&HE| D, 12 QUITMILITETF&6T 9 LD(H5S ST & EH G ) 60)600T LTS 6D DMMILD 6 LO(IHSSI6UTEHET 8
&l (H LI ETWITET & @15 &G @) 6M6t0T WM& 6D QFevallllG &6 6Tetrd &eroT(GLIIG &SI L &I, @CT Qs Tflé FMihs

2 MILLNETI&HET 66U 6UTIHEUIHLD FLOWTS QFaULSH BLILIET , 26UQ6ITH QUTMIWTETHL QFVaULSS QG Mens 6T6iT6or?

A: Rs. 15
em.15
B: Rs.17.50
€H.17.50
C: Rs. 18
€m.18
D: Rs.25
.25

If a+b mean a is daughter of b.

a-b means a is husband of b

axb mean a is brother of b

What does the relation pxq-r show ?

a+b 616016V a 6T60TLIGI b-@) 60T D& 6T 6160 GMILILIBILD

a-b 616016 a 6T60T LIS b-@) 60T GevuTaU () 6T6oT GSMILILI(BILD
axb 6760716V a 6T60TLIGI b-@) 60T FBHMHT T 6Teor GMILILI(HILD
pXg-r 6T60T60T 2_Mey BT (R M.

A: pisson-in-law of r
P 6T60T LIGU T r—@) 60T LO(HLO & 60T
B: pis brother of r and r is sister-in-law of q
P 6T6dTLIGU @) 60T FG&MSTT DMMILD r 6T60TLIGUT q—&)60T 60060011
C: riswife of p
r 6TEOTLIGUIT p—@) 60T LoemoTal
D: qishusband of r and p is brother of q
q 6TEOT LIRS r—@) 60T S600T6UIT LDMMILD p 6TETLIGNT q-@)60T FRSHMTS T
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27

6 |25 2 11 70 8 =12
4 6 [
Find the missing number
3 1
6 251 2 11 70 8 =12
4 [

al(HILILILL 6T6toT &IT600T8.

A: 1
1
B: 2
2
C: 4
4
D: 6
6

If A is the brother of B and B is the daughter of C, then how is C related to A ?

A eTedTLI6U T B-@)60T &GS MSTT DMMILD B 6T6dTLIGUT C-@)60T LO&6IT 67601160 C 6T6OTLIAUT 2_L60T A-85(& 2_6T6T QSMLTL] :

A: Parent
QUMBMITH

B: Uncle
LOMMLOMm

C: Son
L0 & 60T

D: Daughter
LO&6T

Knowledge derived from comparison is called

@UILIHS6V epeuld QUMLK 3iMley

A: Pratyaksa
N8 W &g m

B: Anumana

3| EDILOMEOT T
C: Sabda
FUGST
D: Upamana
2_LILDMmeoTIT

Match the following
(i) Square diagram (a)
(ii) Pie diagram (b)

(i}  Percentage bar diagram (c)

Angle

Areq

QGO
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CUMRS 515!

() &5 ellemsULLLD (1) Gamesorid

(b) 6uLL ellem&aUILILD (2) upliueTey

(c) eNssT(H LI enL (3) 100
eHl6TeSLILILLD

Az (D)-(a), (ii)-(b), (iii)-(c)
@-(1), (0)-(2), (0)-3)
B (i)-(b), (ii)-(a), (iii)-(c)
(@)-(2), (b)-(1), (¢)-(3)
C: ()-(b), (ii)-(c), (iii)-(a)
(@-(2), (0)-3), (0)-(D)
D: (i)-(c), (ii)-(a), (iii)-(b)
(@)-(3), (b)-(1), (0)-(2)

If every member of the population has the same chance of being included in the sample then the sample is said to be :

Wwenns QSTGH W 6l eUMH BLBHGLD THFlulley @ HEHs CT UMl @UhEST6 3ihg LMHIF erelalmm

IPEHELILGRMS!.

A representative

Hrep&ssieub

B: over sampling

Blenmw wrH ifleser

C: Data
&6y

D: Cluster
Q&HM5HSI

A pie diagram is also known as .
Il L ellemgssLiLL LD GTETMILD MPESHLILGRMSI.

A Sub-divided diagram
FamiLlenL efleng sl LD
B: Sector diagram
QL& Camenrll UGS ellemd:asLILL LD
C: Angular diagram
@& meooT elemé & LILIL LD
D: Percentage diagram

alwsaTh ellarsslilL LD

. The data given as :
5.7,12,17,.79. 84,91
Will be called as :

ECL OHMTHHSLILLL FI6)|&H 6T GTEOTMI 2|6MLNEG&HEVITLD.
5,7,12,17,79, 84,91

A': acontinuous series
Q&TLIFRWmer Q&TLT auflens
B: adiscrete series
QsTLIFAWDHM QsTLy aiflens
C: anindividual series
Fefllul L QasTLl euflens
D: time series
STVEFTT Q&L auflens
What are the benefits of Digital India Platform (DIP).
(i) Digitized extracts of DIP generated data.
(i) Download records online to save space and costs

(iii) Indexing photos of a text using data extract.
(iv) Authentication of records and certificates.

WS L6) @BHWIT LIGTTL&UITFLD' (DIP) [H60T60L0&6T WITem6u?

() 505 H&&LILLL DIP - 2 (HeUMHH W FIemne6l §)608 851008 &S 60
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(i) @ LD LH I QFva&Eemerd CFLilG s, BlaLD Blameuule) LFeysaeTll LHelm&aIn QFUIg6.
(i) sreylt NSQ5H\SHemeuLl LIWeTUGSS), @@ 2-enTuiledr L|enasLILIL G185 606T 3L 6Uen 60Tl LI(H &S5 6V.
(iv) UB e &6T InHMILD FTaTHSD&H6T 2 MIHUILIH & SHIS6V.

A: (), (ii), (iii) and (iv)
(i) (i) (iii) LOHMID (iv)
B: (i), (ii) and (iv)
(i) (i) LoD YLD (iv)
C: (i), (iii) and (iv)
(i) (iii) LDODILD (iv)
D: (i), (ii) and (iii)
(i) (ii) LoD YLD (i)
The learning model which needs an interaction between the learners and their environment is :
&H6vall HHELMIBE G, AUTSH FHMNF GLPaSH G0 @ LG G amauliLI(hLD Fsealev UMMM s 6uedlmis S &mmey
wenmuiedr QLW
A': Socio-constructivist model
Fend &L emLLIL] (LDemm
B: Communal constructivism
@6oTlDd FMFHS SHLLemLOLIL| (LDemM
C: Virtual learning
QEFWMeNS SMHMEL (LNemM (Virtual learning)
D: Cognitive learning
&Gl 196) SMHMEL (MM
What is meant by CSC ?
CSC 6T60T LIS 60T QUITIHET 615512

A: Common Service Center
SHITL6T FIefeiv Q&F6TL [T
B: Citizen Service Center
A1 FeT FraTery QEF6TLIT
C: Community Service Center
&Hlhw,eofll1q Frefev Q&L (T
D: Community Society Center
Shwelll 1y QFTFL 1) QFeTLT
The software used for administration, documentation, tracking and reporting of educational courses/programme is called

SHevallilwieh LI LI & 6em 6T / BRI EFR GHeneT Bl TeuGH 5560, 361600 LN S SISH60, LT Q& TLTSH6 LnMHmih ggﬂaaemasuj]@g,eu
A WamHMIHES LWeTURSSLILG LD QIO 6T LITH6T GTEOTMI S MPHELILGHRMSI.

A . Performance Management System (PMS)
QEFWLEHMET GLOGVITETOTEMNLN SieMLOLIL] (PMS)
B: Virtual Learning System (VLS)
QUUIBI&T &HMeL el (VLS)
C: Learning Management System (LMS)
&HMHMEL GLOGVITEIOTEMLD SeMLOLIL] (LMS)
D: Educational Management System (EMS)
&H6vell GLEVTETITENLD emLOLIL| (EMS)

Trusted third party who will issue digital certificate is
LA GOT6OTET! & ITEBT M & 6BILD QULPTHIEG LD eNeTMITLD STLiLleors :

A Certificate owner
FreTml & Hler 2 flemnwimeTy
B: Certificate verifier
Frermlgentp Fifl umFluey
C: Certificate authority
Frermsler g P& TTL LT

D : Certificate Issuer

FIeTMWISLD aULpEIGLIeUT
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World wild life funds (of ITUCN) located at which country ?
IUCN &L (B\LIUmL g svieTer 2_6u& auer 2 ulifleor MGG 6THS BITL 1960 60D H S 6Temg?

A: Greenland

&\1fl T GeveoTL.

B: Ireland
SWiTHS!

C: England
QRIRTHSI

D: Switzerland
FelFTeLMbHSI

In which year the third estimate report of IPPC published?
6THS 21,600T(H IPPC6IT enedTmmeugl LHLILTEH ynfleemnas QeuerfludlL Ll L gi?

A: 2001
2001
B: 2002
2002
C: 2003
2003
D: 2004
2004

Which of the following government initiative is aimed at boosting solar power in Indian agricultural sector ?

@pHW eleusmwsg siemmuiley Gflw WeTFmTISHens A SFILILINS CHMTEHSHIOMES GG ToTL 2 T&THhIg %S 6T (WWHF UL
LY edreu(BeuesTeu MM 6L Wimemeu?

A: PM Kisan

W.erid. B & medr
B: PM Surya Ghar Muft Bijlee Yojana

.eTh. GIWw &F WL1g L19265 GuimegeorT
C: PM-KUSUM

L9.eTD. @& LD
D: Solar Parks

G FEDF) LIS TS SH6T

Which of the following is a non-chlorinated soil pollutant ?
LY etraumedestaumnilev & Gerimifledr—2{6V6VMTE LD6or M&LIHISS) 6TemIon?

A: Dioxins

LTSS 60160
B: PAHs

PAHs
C: DDT

DDT

D: Benzene

QLI6TG 6T

Match the following projects of India and the year of commencement :

(a) Aravalli Aforestation Project (1) 1973
(b) Project Tiger (2) 1990
(C) Project Elephant (3) 1991
(D) Coastal zone management plan (4) 1996

Choose the comrrect answer :
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FpsawrL @hAw SRS whHnib sensy Hleurislul L gy ewrhlsaerl Clumms s s:

(@
(b)
()
()

UL iguisn | Ll iguien Il
2y Teucustl &m(hlser 1y 1973
auemFLliL SILLLD

Leblsmel Lmg smiiy () 1990
&lLL1ID

WITEn 66T HET LTS STLIL (3) 1991
SILLLD

&L Gy esrLsu (4) 199
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Given below are two statements about emotions of adolescents.

Statement I : Adolescents are not consistent in their emotions.

Statement IT : The sudden functioning of sexual glands and tremendous increase in physical energy makes adolescents restless.

In the light of the above statement choose the most appropriate answer from the option given below :

FE6L auarflerid LipeusH arifler arTeel(R&FR GMHS aMe:R W kST Q& TH &8 LILL (B eTeTer

QTSGR WD I: auaTiflerid LiHeus S5 6orf6dr LneTG el (W &S Bl606V [H6M 60U M60TS 60T M

QMGG 11 HIeQT6TMm {8 LITeMILILGET STeoTLLIQLMMID, 2 160 QFWLTH ST H&HLID He0)LGLIMIGISTaILD
auerifleorid LIheugSFHeren SemGILMM Blenevd: &5 & 6iTEn G 60T meot.

G &5 600TL 6U &R ILITEIGHE6TE & ([HHH 6V 618 Metor(h), BLp& & etoTLalM M6y donfluleTalmenms CHIs%.

A Both Statement I and Statement II are true
QIMTEHGWLD I LDMHMILD eumGBS WD I Fiflumers
B: Both Statement I and Statement II are false
QIMTSGWLD I LDMHMILD eUTSHSHWLD IT SeUmmers
C: Statement I is true but Statement I is false
UMSEWLD I &ifl, eumsSH WD 11 Seummers!
D: Statement I is false but Statement II is true
QIMESGEWILD [ Heuml, ums@RWLD 1T Fflwmers)
Environmental education is a process of recognizing the interrelatedness among men, his and biological surrounding.
FHMIF G &Hevell 6TeTLIGI LD6v 5 60T, 2jeuearsl wmHmib 2 uIflwe) G L& WeIMHMISES @6 L Gl meT

QBMLILS606T SBIGH &G0 [ Q&F W6V MWIMEGLD.

A:

Personality
3, EH6e0ILD
Value

LG L S6iT
Culture

SHEUMESMILD

: belief

BLOLI & 60 & &6t

Which committee proposed separate schools for girls ?

Q\LIGT0T & @5 &G\ & 60T H 6ol LiaTerfl&:emer eTh% & & (W (et QoMb Si?

A

Secondary Education commission (1952-53)

@ enLBlenev Sevalld & (1952-53)

National Committee on Women's Education (1959
QUIGTITE 6T &60al G & e CHRAW G (LD (1959)
Smt. Hansa Mehta Committee (1962)

FHLS). aD6eTTEFT GG ST G LD (1962)
National Committee (1974)

CHAW & W (1974)

The first open university was established in in 1982.
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W& HMHSHIM6ULI LIV MEVESHLPGLD 1982 E)6V Bloeuiul Lg

A: Madras
G\ & 60T6m 60T

B: Delhi
QLevedl

C: Kolkata
QHMTVEHSSHT

D: Andra Pradesh
BT LITEsH&LD

Who is the representatives of government of India in the union ministry of Human Resource Development (HRD) ?

SH W esflgealeT GLMUTL () HMDEFFHSH 6 @HH W T 6T LNTH B S &6T wimy?

A: The chairman
SV
B: Representatives of union Territories
w,esflwetr LNyCsamisserfler LITH mlG &6t
C: All other ministers in the Ministry of HRD
evflgeuer GMUTL(H HMDFFHSHVIETET IDMHM {60)60THS! 3 NDFFT&HEHLD
D: Members of technical education

QamflevmL L& sevall 2 miliLieflFger

Case Study from Question No. 46 to Question No. 50
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PASSAGE

Stress : The body's natural response to stimuli Deadlines, traffic, long queues, noise, financial pressures, family worries and health concerns. We're all familiar
with these common stresses of modern living and the importance of relaxation. But what exactly is stress ? And how does one relax ?

Simply put, stress is the body's natural response to environmental and social stimuli. As external conditions change, the body's internal systems react to allow
you to adapt to those changes and survive. These internal reactions are often called the "flight or fight response". You're sitting in your most comfortable chair,
engrossed in a novel when you hear a strange noise. Your senses come to attention. Where is that noise coming from ? What is it ? Your muscles tense, your
heart pounds and you begin to perspire. You try to quiet your heavy breathing and notice you're gripping that novel like a weapon, ready to strike out. Should
you fight or run or hide ?

The flight or fight response is nature's way of protecting you in times of danger. That same response also helps you to meet challenges and achieve goals. The
problem comes when stress is chronic and unrelieved. Your body is constantly on alert and the protective changes brought on by stress can have a harmful effect
on your mental and physical well-being.

LSS

LD (PG HLD: HTeT(HHEVSHEHE G 265160 @) UM 6m & WITeT LIS6V

&EMVEQ&®D), CUTEGTSES, Bl allflenaser, F&H51D, BIH U(WHSEIS6T, GO WDLS &HaI6VG&ET LMHMID 2 L 6VIH6E
FHEUMELGEHET. HeleT aUMD& & U6 @& G\LIMSI6UTET S(LDSSMHIGET LMHMILD HeTialle (N&HH WS SI6IE S BITLD
et (B AHMHH BHEHHCMITLD. SLETITEV LDEIT (DS GLD 6TETMITEV 6TEITET? (HEUIT 6T6UAIMTMI NG TH TS TATRMTIT ?
eTerflem LD WIS & Q& TEITEUTIT6L, LD6UT (DS GLD 6T6dTLIZI & M MIEF G L6V LDMMILD FeLpds HTevor(h &6V 8 &G 2L e0l6oT
@WMHen s meT LISV, QeusfliLim Blemeuenngs 6T IMmIDEUNS!, 2 L6960 2 6T Si6MmLOLILS6T HS DMTHMAEISEHSE e L

2 mIGeeT DMMHMWenNLGESA|D 2 ulFaumpe|h SInG &R @TM6T. @HS 2 6T eTH 660 6uTs: 6T GLIHLOLIMILD "eTH & GLD
WMHMID SULLD LS 6V aflement" 6T6dTmI S{6mLp& & LILIH G 60Tm 60T, BhIGH6T 2 Mg EH8HE L&a LD aug&wimeT BImHsemedluiley

2 L &Mihgl, @ Hrausdlev epp&@ SR ITa6T, LGNS Brhis6T @b NRSHTINTET F&HHE5ME5EH CoHLGBNIT5H6IT. 2_HIgG6T
L6V60T&H 6T S6U60TEFH MG 6UHSHR TMEIT. 6TRIRBHS 2hS FSHHD UBRMSI? S TET6T? 2_MHBIH6T &60)F 60T
LISMHMLDE LR 6TMET, 2_MhiG6T @SWID Q&R MmE hmib Brhisear elwiss oL rblsERnTa6r. 2 KiG6T &H6arsHs g
OLHLILGSS WWLHRASERNTHET, BRIG6T HTHHS SWTTTS bHS HTeUM6V (5 WSS CLMev LN SH [BLILIM S
SHauef &R NTG&6T. Hhiger &evoren WL CauetoT(GIDIT 260608 L CauetiT(HILNIT 606V &I g6 h &l Q& MeiTer Geuenor(HLOm?
THIGEHEGLD LMHMID SLUILLD LIS 6L ell6m 6 eTeTLIS QLSS &HTeukIGH6 60 2 MigGeeTL LIMSI&HTS SIS QG TeTer @ Wwmens
9eflEGD MG, 215IG6 FaUT&HEET 6T TS TETATE| LD E) 68 &5 6M6T en LA 2 HBISGEH5E 2 56|HMSI. LneoT
S(WSSLD BTETUL L ST, FTTONID @B EGLCUTS F&H&H60 iR MS). 2_HIG6T 2 L6 T IGLTSID afl L] L 6T

@ GLILGITE, L06T (WDSHHS5S M6V gFDLIBID LIMSISTLIL LOMHMKIGET 2_MISET LG0T LMHMILD 2 L6V heventlev HhiE
aflememail g @Ln.

What is the "flight or fight response" ?
"eTHFSHGLD LMD SLILILD LISV afl6emeor" 6T60TMITEV 6T60TE0T?
A': amethod of relaxation during a fight
6 (15 Fevoren) L UWl6tT GLIMGI eUl6] QLIMID (B (LM
B : anatural reaction to environmental changes meant to help you survive.
BriisGer 2 ulFaurp 2 Fe|b &MHmIFELpev LDMMHMEISHEHSE @)W MHendWTerT 6TH Fallemeor.
C: aresponse to physical exercise
2 L6 LWMAIEG @ LT
D: away to avoid stress in everyday life
SBTMTL eUTPEH S W 6T (DS HHMBS H61T6HS @@ eu

What happens to your body when you are stressed ?
BRIGET D6 (WEHHEH 6V @) (HEHEGLDCLMTS 2_MIg6T 2 L6016V 6T60TeoT HLE&HMSI?
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A your muscles tense, heart pounds and you begin to perspire
2 MBIGET HNFSHET LISMHMLD6MLH6Tm6oT, @SWID LILLIL &S M nmmild BrigseT allfss o TbllsH a6
B: your heart rate and breathing slows down
2 BIGET @FHUWS S LI IDMHMID &HeUTEFD GemnmRMS
C: your body completely relaxes and feels at ease
2 MHIGET 2L 60 (DHMIID HaTFaUTSHa LD BIDWSIWTHALD 2 6orFHmSI
D : your body becomes stronger
2 MBIGET 2 L6V auedleminwen R m&l

How does the body react to stress during a dangerous situation ?

QLSS T &LDBleneuuiley LD6T H(WSHSHMES 2L 6L eTeuaumml eTH Iallem e mHmISH Mg ?

A the body shuts down and relaxes
2 L6V HeMiHal @UOeU(H&HELWD
B: the body remains calm
2 L6V MGHWTS G (H&ESLD
C: the body activates physical changes to protect you
2 _BIGEM6TLI LIMTSI&TEHS 2 L 606V IDMHMmBISET gHLUBS M.
D: the body tries to move away
2 LIb SBIRBHE G F Q&F6e (PUHMSI
Which of the following is a positive aspect of
LN etTeu (B euesTeu 6L 6181 (D555 H 6T GIBITLOED MUITET SDFLD

A: it helps you avoid challenges
@& FaTLEHMETS S5 2 Sa|RMma!
B: it makes you feel constantly tired
@3l 2 BIG6T QEHTLIHS CEFMIT6UTS 2_600T eMeUSHHMSI
C: it makes you calm
9|8l 2_BIGET AHODGHLILGSSR NS
D: it helps in facing challenges and achieving goals in life
@8 FAUTLHEMET 6TH TG & TETATE|LD 6UTLDE M S UN6 §)6V5E&HEN6T LA 2 Sa|Rms!
What does chronic stress of to our mind/body ?
BITETLIL L LD6OT S(LD&GLD [HLD LOEOTLD / 2 L 85 G 6T60T60T QF WIS M S1?

A it leads to improved mental health
@& CIUL L 6T CrMEHWSHHES allalGSERMmSl
B : it constantly keeps the body on alert and may affect our well-being
@8 OSTLIHS 2 Lene eT&&FflGam& W TS eSS (BHS! BLD 2CITERWSSLI LITHESHMD
C: it boosts physical energy and performance
@8l 2_ L6V 9,Mmmev LnMMILD QF WLTH MmeneT 25 & Hle&ERMmSI
D : it has no visible effects on physical and mental health

@&l 2_ L6V DMHMILD 16T ETMEHERWSH 6 LieuLILI(GID ellemerne|seneT gmLbH &S TS



